D9ADTGL—FIT —

EP FB-19x4.5 BB WXI-32x/x9.9 CBRB-¢/ O0-60x40x3.2

(t@m/)y2Yy Il Lo
< =
(Ngp] o (Ngp]
A B %
EEEEEE EEEEEEEREEEEEEEEERE < S,
L) =

o

19
997/ 60
92
P16.5
M
A A A A A A A A A
___________________________________ o &
O
10 977 10 p: =
&0 7 &8 E
WXI-32x7%9.5
P16.
Ji ¥y| 7
195 L
: IK M X = (] FE R T B i x B X4
0 & H B J
55 [1FEE 5.5 oo pis| & &
ST WKVS-X 39-732 A
— % 2015.12.21 w
7[]\_'_3,_\/9 1 88400 mfﬂﬁfu&)’)% T_eo \A/K\/S X 39 738 A[: R 1/5 %} H‘mE%**Eﬁ%*i
BB B - &= @ 0 B % = & g| ABAS TEL (08) 0458 0800 (1) FAX (090458 0505

FEIDORRITIARITHENO £, TIREAFENEY



D9ADTGL—FIT —

EP FB-19x4.5 BB WXI-3Px7x5.5 CBRB-47 0-55x40x3.2 T3 A8 £ 2(1=5)
(k@) Y2y IND) LN
~ =
L o L
(@)} o (@)}
(@] ~ (qu]
L S
1
19
997 55 || 5
9P
P16.5
T
L\ A | Y
___________________________________ PN
L
= = == = = =
L
10 977 10 p =
fill #& 22 EN
WXI-32x7x9.9
P16,
7 [Jez] 7
115951,
» mm 2 =2 I F N % B f S i
o 55 Mregl 55 & WKVS-X39-732 A B E B Bl B %
= = e PNOEST 051221 |y
7[]\_'_3,_\/9 1 88400 m‘ﬂﬁﬁ’ﬁ&)o% T_eo \A/K\/S X 39 738 A[: R 1/5 %} H‘mE%**Eﬁ%*i
BE B - £ & U = & = % g| FABAS TEL (000049 0500 ) EAX (200 o458 0505

FEIDORRITIARITHENO £, TIREAFENEY



DAL —FIaT —

EP FB-19x4.5 BB WXI-32x7x5.5 CB RB-¢7 0-55x40x3.2 7347ty ¥ 9(4=5)
/ (L&) 2y TND) / - \ /
< =
@\ / L 4 <
LD o L
S S 3
Ig) =
ok
19
997 95 L 5
i
P16.5
ar
s e e e e e e S e e e e ace:
ol &
=== === === e === == =
(Igp)]
10 977 10 ; =
{E) Z& &2 H
WXI-32x7/x9.9
P16,
7 _[3%%] 7
RESIA
» ﬂ[m 2 = I T A % |8 f g = B %
5 55 Hrsgh S5 2 WKVS-X39-732 4 |E B A B Z #
1 & Jan PNAVE WL 20160424 | w
PR SS400  BRENS- ¥ . & -
JL-F7 1 1-20 R =
” wKvs-x 39-732 A 1| Lo, | R RREBRRR &
nEM g8 - x @ U I# ® = S B gk TEL (06) 6458 0500 (f%) FAX (06)64:8 0505

FEIDORRITIARITHENO £, TIREAFENEY



54 i 3 B " £
8 Ah
o IFFREES  WKVS-X 39 - 732 o BRAME T-20
e WEE 395 x L x32 o TEEIE 300 mm
o HRAMA®E fR1;& A o RN71)24 78-WX1-32x7x5. 5
o R7IUHIN—
* 1% il — Wi Aoy TR P = 80 kN CEwF Ps = 16.5 mm
- EmERE i= 0 CWERHE L = 843 mnd
- EREBELIAE P, = 80.0 kN

- Bt EiE
- X EE R
CRFPYUTN—FARER

BEME
CRTIVTN——KREBEMBE LTEHET 5,
R A op = 0.180 kN/mm’

Q=
0 =

295 mm
500 mm

axb =200 mm x 500 mm

w
VAR A A A A

21

e HlFE—AT K M

_ PixPg
W= axb
80.0 x 16.5
W *m— 0.013 kN/mm
M :%xw x 0 x (20 — 01 )
:%xo.om x 295 x (2 x 295 — 295 )
= 143.6 kN-mm
o5 Hh: O
M 143.6
e —— T e—— <
o 7 843 0.17 kN/mm2=ob

LRI VR GFHERET B, R

FRED | 4

Do9ALTL—FITF

BIpREEHRE




